N.21, G.03

Ratio and Map Scales

Ratio

To divide a quantity into a given ratio - eg Karen, David and Judith share
£240 in the ratio 8:3:1

e Find how many equal parts you need by adding up the ratio

el . - ] pd/h
* Divide the quantity by this total to find out how much each part gets
O_HD - (L = .£ 20
e Multiply this by the number needed for each section of the ratio
kqn.cﬂ 2 Y% 2oz o 3} Dowwr s Vplen ,égD/ TopirH = £1o
Often, drawing the ratio as a bar helps you visualise the problem.
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Three farmers shared an order for fertiliser between them in the ratio of
3:4:7.

Jade got the largest share.
Bethan got the smallest share.
Noah’s share was 60kg.

Calculate how much of the fertiliser Jade and Bethan each received
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A codour of paint culled "ochra’ i made using a recipe waith whate, ved, blue and veflow paint.
The hreakdvwn ol the pereentases of the dirterent colours i e ochra” paint are showon i the
tahle.

‘Ochra’ paint recipe

White 90%
Red %
Blue 3%
Yellow 2%

Catrin has already bouphe 25 Bitres of Blue paim
Shedecides e huy whnie, red and sellow paint teese with all o her bige parne o make us much
el et as she can,
Fho steas ol tins o paant availible e
. F hitre.
o A Tstres amd
I hitres
Ol tull tins of pant are availahle 1o bay.
Catrio hux enly o small shed wo swore her paial, so wants as bude white, red and wellow paint
et iver as possible
Caboulste the amount o cach of the coboeurs ol patnl Calvin needs b by and complete thy

shopping hst ler her on the opposite paoe,
You st shoew afl v waorkng.
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Scale Drawings
These often use the ratio symbol (:) in a different way.

A scale of 1:200 means 1 of whatever unit you use to measure on a diagram
will be 200 times bigger in the same unit in real life.

So a wall measuring Scm on the scale drawing willbe §x 2600 = [0©0 jn
real life. Cm

You then turn this into a more sensible unit for its size: IOM = gh o /[Oﬁ-u,{paﬂ

If you need to shrink from real life onto the scale drawing , say 7m actually:

M % 100 = FpO cm
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The map below shows a reute from Edinburgh to Dundee
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The route from Edinburgh to Dundee is approximately 42m on the map.
The actual joutney is approximately 100 kilormetres

(a/ Calculate the scale of the map, giving your answer in the form 1 2]
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Chervland Ber planned acyele ride wsing o b 25000 sl N,

Phe route they plannad maasurad approsimately 8eus on the 1

e Calkulate approsimatedy how Lar they plunned vs owle
Yo must give vous answer i ki
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o Ader the ride Cheryts cycle-computer shesed that she travelled 24 km

What was this measurenient on the map in contimetres”
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b Benand Choersts ovele-computers showed 24 kmalier the rigde
The rate of the distanee Ben cyeled e the distance he pushed his bike uphill was 5|
Ehe ratio ol the distames Chersd eveloed te the distanee she pushed her hike aphall was
111
Calcukate how fur Ben oveled and how far he pushed his bike uphill
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Caeled 9—0 ki Pushed bike wphill L’ ki

Caleulate bow e ChersTeveled and Toss Bie she pushed her hike nphdd
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Cueled 9\—1' . km Pushed bike wphill y km
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